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Multiple Choice

oo
Nej

QNo. 1 1213 [4 [5 [6 10
{a,b,e,d} | ¢ | b |c d |c d c d |a |c

25
.No: 1 If 3 (k* + ak) = 0, then the value of « is equal to:
k=1

(a) —16 (b) 16 () —17 (d) -1

1

. No: 2 The value of the integral / 2 |z)* dz is equal to
—1

(a) 2 ®) 1 (€) 0 d) -1

sin(tan(z))

. No: 3 The value of the integral / dx is equal to:

cos?(x)
(a) cos(tan(z)) +c¢  (b) sin(tan(z)) +¢  (¢) —cos(tan(z)) +¢  (d) —sin(tan(x)) + ¢

dtan(t)
dt

. No: 4 The derivative of the integral / 1+ |dt is equal to:
0

(a) 1+tanx (b)) 1—tanx (¢) 1—sec’x (d) 1+sec’z

2
“In(t /
.No: 5 If G(z) = / %dt then G (e) is equal to:

(a) 2e (b)y 1 (c) e (d) 4e

. No: 6 If log, (””—_1) =1, then zx is equal to:

T

(a) 1 (b) 2 (c)

N | =
—
SN
~—
|
—_

1
. No: 7 The value of the integral / 5%dx is equal to:
0

(a) 41;15 (0) lro5 () 4 5Inb




Q. No: 8 The integral /x\/a:2 + 1ldzx is equal to:
L, 2, 9 3/2 2, 9 3/2 L s 3/2
(a) 3% Vrz+14+c¢ (b) g(a: +132 +¢ (e —g(x +1)%2+¢c (d) 5('76 + 1) +¢

1 T
Q. No: 9 The value of the integral / s equal to:
o (e +1)2

e—1 1
b —1 d
@ 3 ®O © @ o
dx
. No: 10 Th lue of the inte ral/—ise ual to:
Q No ¢ e s 162502 O

Cos _1(f—6) Cos _1(%) sin_l(%) sin _1(%)

(a)—T—l—c (b) 2—5+C (C) T—l—c (d) _T—{—C



Full Questions

3
Question No: 11: Use Trapezoidal rule to approximate the integral / Va2 + 3dx
1

with n = 4. [3]:
Answer: [a,b] = [1,3], n =4, and f(z) = Va? + 3,

b—a_3—1 1

2
Ar = S -05(05
v n 14 (05)

o = 1, T = 1.5,1‘2 = 2,1’3 = 2.5,$4 = 3. (05)

[\V]

Q

/1 VT 3da %[m) F2f(15) + 2f(2) + 2F25) + F(3)] (1)
%[2 +2(2.29129) + 2(2.64575) + 2(3.04138) + 3.4641]  (0.5)
21.4209

4

Q

Q

~ 5.3552 (0.5)

Question No: 12: If f(z) = 2°°%®) then find f'(z). 2]
Answer: by using the natural logaritm we have:

In(f(x)) = In(z*"@)) = cosh (z) In(x) (0.5)

then
d In(f(z)) _ d(cosh (z) In(z)) (0.5)
dx dx '
f(z)  d(cosh(z)) (2 + cosh (2 d(In(z)) — sinh(a) In(x cosh(x)
o = A )+ cosh (o) T — sinh(a) (o) + S (05)
and then
f'(z) = |sinh(x) ln($)+COSh(x)} f(z) = {sinh(x) 1n(a;)+%h($) 2°%h(@) (0.5)

Question No: 13: Find the number z that satisfies the conclusion of the Mean
value Theorem for the function f(z) = cos(2x) where x € [0, g] And also find the

average value f,, of f(z). [3]



Answer: By using the Mean-Value theorem we have

x/2 .
/0 cos(2r)dr = (3 — 0)cos(22), (1)

where z is a real number in [0, 7]. Then

/2 -
—cos(2z2) = /0 cos(2zx)dr = [% sin(2z)]§ = §(sin(7r) —cos(0) =0, (0.5)

therefore cos(2z) = 0, and then

and also we have 2
1 s
fav = = / cos(2x)dz =0, (0.5)

— —0J0

Question No: 14: Evaluate the following integral

cos(x)
J =
/sin(q:)\/él — sin’(7)

dx

Answer: Put

u = sin(z) then du = cos(z)dz, (0.5)
and we have

d d
=N —
uv4 —u? uy/2% — u?
1 1 i
= -3 sech_l(g) te=—g sech 4(@) +¢, (1)



